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- J19U3 PHOIN FTXI2D NP PIYH ON
If it is regarding Tum’oh, we require food the size of an egg

Overview

The R states that for 1°921% Nk we require that the food be the size of an egg.
npoIN discusses whether this means that in order for food to be Xnvn others, it
requires to be 7¥°2> (but in can become &nv even if it is a X1w 92 [the view of *"w1
(elsewhere)]), or that the size of a %22 is required even to become Xnv.

= 182915 HHNA ANMIV YN DaPN XYY lynvun
It seems from our X713 that food does not become X»v if it is less than the size of
a XA —

moon addresses a seemingly contradictory view:
- NINY Y92 ANMIV AP’ YIINT 05302 NN 27U NOADY )

And this which »"wn cited from the "0 that food can be 8% ®ap» even if it is
aw's-

= 99N TUN 919 115N 029INNR NV NI 5199 NINY Y93 NNVNRY 99NN 3591 NOInT
For the 5™n cites the 7109 of %287 Yo% (from all foods), [this teaches] that food
becomes X»w even w''52; one would think that food can be X»un others even if it

is a w">, the 77N teaches us by saying 928> 2wN (which can be eaten) to mean -
= SA2NIN NYA AT N NN HNN N2 JININ IIN

Food which can be eaten at one time, one would say this is the size of a hen’s

egg. It is apparent from this 5" that 221X is w">2 XMWY 22pn contradicting our X773 -
= NN NNDNONRT 05 1229 9N

The n''9 responds that the 2105 which the 3™ cites is merely an RnS1MOR; it is only
1127177 that 933X is "33 7R 22pR, however RN™IXRTA it needs to be %23 —

mooIn finds a similar case where the 5™1n cites a 109, but it is only an XN2nOK:
= NYYA NNIMON NIN M1 XD NIND AWM Y91 0219 HINA 132299 P92 9V ) Y9147

! X217 queried what is the rule if someone threw a m°12 of 1N into a Xnv N2, The X3 responded; if the question is
whether the 770 becomes &nv, the answer is obvious that food does not become &nv less than a 77%°2>. We are
discussing 78nW N72p (not 0K ®1u?) and nevertheless the X3 states unequivocally that a 7323 is required.
2 See 11¥"292 71"'7 2,39 o°noD "W,
3 The 7o in 79,%° (*1W) Xp7 (regarding food which came in contact with a Xav 071 23) reads, 2287 WK 2283 231
Xnu> 0o 1Y Ki2? WK, Presumably the “12°7” of a w" is based on the word 7n (from all). See footnote # 6.
4 The n"21 M7 amends this to read, 932 Xnw W A% 987 (instead of 922 XnwAw H21R7).
5> A person can swallow in one time an amount the size of a (hen’s) egg.
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For in "0 we also include tithing vegetables from the 7109 of ya8T “wwn b1,°

and that M12°7 is merely an Xno»eR (for 1> wwn is only 112777), similarly by X nhap
w"21 it is also only 112777 and the 2109 is merely an Xn>noX.

In summation; M50 maintains that food can be X»v» and be nxMYv 2pn only if it is a 7¥°22.

mooIn responds to defend >"w9» that XML N22p is w"d2:
= 759992 ¥H291) PPYN MINT INNID (3,55 97 onos) NYY DI P93 79997 NN

And this which the X723 asks in 7pw %2 95, according to the one who maintains

that the liquids of (olive) oil and grape (wine) are absorbed and are part of the fruit -
= DNV NN NYYAD DA DINT VNADY NN NNV INT XIN

From this which we learnt in a 71wn; ‘a n» XY who squeezed olives or grapes
the exact size of an egg; the juices of the 0°21¥1 2°n°T are 2°7177W’; the X»3 asks -

= DNV INNN P52 Y5291 IN)
And if the pwn are "»ha p92°n, why are they 297170; (there is a 7¥°22) since the Ppwn

are part of the fruit?! The X713 answers -
= 191D VIND 97 YIWINND RP NNIINDY 199WN NOHY DAY NY YPINY

And establishes that 71w where the grapes where not 7xmv 2% 9ws2; so when

were the grapes "w1%; only after he squeezes them -
= D90MPN YITAY D) 929V NN NINYIY 19D 9982 11Y VIND *N

And when he squeezed them, the 97w is lacking. This concludes the citation from
that X9m3. MdOIN continues that this answer is understandable even according to

S"wp -
— 95N HaPYI KNYIY 7Y 9583 0PN YN NINY Y53 ANML YaD1nT 23 Yy N1

6 The P09 in 2,12 (Mpna) X reads, M2 WP X3 M2 YY7 190 PIRG YU ¥IRT Wyn 7). Presumably the 122" of
P> Wwyn is based on the word 921 (and all). See footnote # 3.
" There is a dispute regarding fruit juices (and other items) which are contained within the fruit, whether they are 7po°n
*7po (deposited within the fruit like juice in a cup) but are considered separate from the fruit, or *y°22 ¥92" (they are
absorbed) and are part of the fruit.
8 A nn Xnv is a person (or a [non-metal] utensil) which came in contact with a dead body. A n»n Xnv is an XML IR,
which can be &nun other people or utensils and certainly 1°pwn) 23X,
° If we maintain >7pd P2 (see footnote # 7) it is understood why the 1pwn are @70 since they are considered
separate from the fruit, the n» Rnv never touched the 1pwn. However if we maintain >3°22 ¥92°n, the Ppwn are part of
the fruit, so the n» Xnv touched fruit the size of a 71¥°23; the entire fruit including the absorbed liquid should be &nv.
19 In order for food to be nxmw S2pn they must first become wet with one of the seven liquids incorporated in the
acronym 2"7 v"nw 7" (which are 7 wine, w27 honey, 1w oil, 2717 milk, v dew, 07 blood, o°» water). These grapes
never came into contact with liquids after they were harvested, therefore they are not X 92pn when the nn R
began to squeeze the fruit..
" Once the nn Xnv squeezes the fruit, the liquid (oil/wine) is expelled and it is wan the food (grape or the olive);
however at that point the fruit is less than a 7% since some of the liquid was expelled.
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For even though 1°pwnI 190 are 8% 9apn even with a w"'> (according to *"wM),12
nevertheless the 2°21¥1 0°n°T are not X1Y, since they are lacking the 2w°2 to become

TRNAIY 92pY WA, this is so -
= (x,np 1pY) N2AN P99 7Y OV WIANT 1207999 290 vIaY

According to the interpretation of n''m» 2977, who, in n°an 99, explained in the

name of 3w -
= 14785255 MNS3 YWD YaAPN YIIN PNT

That food cannot become X210 22p% o if it is less than a 173925 -
= 157853293 DY9NN NPV 19 NP JIN? TUNRNT DIV NNYV)

And the reason why Ww>n requires a n%°22 (even though nxmw nPap is w'"23) is
because we derive the 1w of a 7%%22 in order for 1°70IX to be X%un others, from

the words o8> R Y0187 700 -
= 160951 199 N2 9UN AN NAN)

And on those words (?2%° TwX) the 770 wrote 2% 179 X237 WX (that water came
upon it); which is the requirement of 7w>r.

n190IN continues to defend "W in a similar case in another X773:
= 1779259y YD40aY P8I 22) (x,nn £onos) 12921 IIN D991 199

And similarly in 19921 ¥R p95 regarding a y»r dough in the cracks of a kneading

bowl -
- 19‘,78: NIV 1’59)1‘4 X221 NI NI*NRT 1IN0 18y5aN W99

Where 2R explained; that for instance there is less than a 17%°2> food and it

touched this dough which was 72w *p7103, and a 81w 127 touched them; the rule is -
= 99050 12IVIN INDINRT NI

12 One would assume that if 1921X are w"22 Xm0 22p7, they should also be axMW H2p2 W1 with a w"a. If we assume

this, the X713 above would not be understood according to >"w-; for why is it not IR™W 22p% WM once the N KM

squeezed out some of the juice?!

13 See previous 7°pnn "7 '01n TIE footnote # 3.

14 The X3 is now understood even according to >"w19. NOIN negates our assumption in footnote # 12. Therefore

since the fruits were not IRV 722 W, so even though the N1 &nv touched them and continued to touch them after

their juice was expelled, but since at that time the fruit was less than a 77¥°25 it never became w>a.

15 See footnote # 3.

16 The oo reads W 0 1Y Ri22 WK 228 WK 22K 9an; from 23871 731 we derive that it is w"2 7xmw H2pn, however

from 928> WX we derive that 2> X XvY it must be 7322, This indicates that 92X° 9WX means 7123, so when the 7710

writes 2o8° WX (meaning 71¥°2) and continues immediately 2> 12y X12° "R (meaning W>371); the w37 must be only

on oK WK the size of a 7%°25. After it becomes ;7%°252 W2, it then can be IRV 92pn even 732371 NS,

17 The mwn there stated that if there was a y»n 01> of dough in one place in the 72 he is required to be 7wan it,

otherwise he is not. The 71wn continues, ‘and similarly regarding 78»W’, and concludes ‘if he is 7°9pn it is y¥I7 (and

the 72°7¥ does not become Xnv [since he merely touched the %2 not the 712°7Y) but if he is not 75pn it is like the 72v°.

18,1 ow. He explains the 71wn which stated 72792 X7 27 M1P2 7317 ORI PRIN 1Y TOPR OR O80T P01,

19 Together (the 7%>201 Mo 192 and the 727y 702w p¥3) they equal a 7x°23. There was a PX2 013 in the 727 P70.
3

TosfosInEnglish.com



IR Y7 OR 7"7 '0WN K,X¥ naw .7"02

On nop, where the prohibition (of the y»nnm p¥a in the 727y °p7°0) makes it
prominent,?’ they combine?! (so there is a v Pavy 7x°20) —

mooin states the difficulty on >"w7 nv*w from this Xna:
= D2Y9Y YPTIDAY NI NIV YT INIPIND 281 NN NYIADN NIND 91998 NDAT 2 by 9N

Even though that according to *"w (who maintains that &mw n%ap is w'"23), even
without the combining of the food 7725352 N> we could have established the 71wn

in a case where a 79 touched the n°1> in the 771259y 5p799, and we will say that -
- NY N9 ON PN 39999 IN NIYD HHNS INWA NIV YapN 1awin 2199057 Nooa

On nop, since the prohibition of v makes this PX2 prominent, it is N2 Papn,
however in the rest of the year, if he is 795P» on the px3 it becomes X»nv and if he

is not 79pn on it, it does not become Xnv; why was it necessary according to >"w1 to
complicate the case by adding the 7%°23n nno 790X regarding M2

moon defends >"'wAs:
= 26N DIYN ANMON 291 INDAT 27191 11391 1D NP9 ND NNNY INMDIV NYAP 1207 NON

Rather regarding whether this n°12 itself is 8= ®2p» or not, that is irrelevant

for even if it is not XMWV %2pn, that dough is 78R because it is Y72 -
- 7959AN NNPOY vy 0PI 997

Therefore 2% mentioned the idea of M7°X regarding to be X»w» others.

MBI returns to support his view that 122X are not 7%°257 NIND ARMIY 72pn:
= N2 HHND ANV DaPN JOIN PPNRT NN DN 13529 YN

And the n''1 brings proof that food cannot become X2 if it is less than a 77%°35 -
- PHIN HY Y DIYH NNYIN IV NOPMNN (x,m ow) 1913 1IN P93 25NN

20 The fact that a 72>y >p7°02 p¥2 N1 requires 1¥°2, makes that 21wn P2, so therefore it is considered as if it is a
separate entity from the 7127y and it is a prominent piece of 2218, so it can be 77v¥» with the 7¥°23n M 191X to be
TR Dapn if together they are %033,
21 According to Mmoo this would (seemingly) mean that this combined food becomes Xnav since there is the MW of a
7¥"20. See footnote # 27.
22 See footnote # 20.
23 He is interested in this n°13; he wants to remove it and use it for food; then it is 7xmY 2pn.
24 He does not mind that it remains in the 72w *»7°0 (to fill in the cracks); it is not considered food and is not R 92p7n.
25 According to n1oo1n that we require a 7¥°23 to be XMW 23p7 it is understood why »2x needed to establish the mawn
that there was 1% 139 7¥°201 MINd PY3R, because otherwise a n°1> can never be IR 73pn, but according to "wA
that Xm0 N73p is "33, why bring in the concept of M71°x?! See ‘Thinking it over’ # 1.
26 It needs to be 712 since it is a N°13 (and it cannot be Xnwn anything else, anyway). Its becoming X»v has no legal
significance.
27 See "wn there (X2°X7 7"7 X,Mm) that the issue is if other foods touched this combined %23 (which became Xnv);
whether the new foods also become &nv.
28 This is actually a 7awn in A"n 2"5 oy 9120 (cited in 17219 198 PI9).
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For we learnt in 19921 9K P95, a case where there was 72190 porridge and 1

garlic and oil mixed in the porridge; the rule is -
= 301315 NN YU INLPNA 2701 1AV YN

When a 21 912w touches partially the garlic or oil he disqualifies the entire

mixture; however if it was -
=91 DIPN NN DDA KD INEPNI 01 2120 ¥ N2 DY 19 DIV PIIN DY Napn

A 7911 porridge and 72170 garlic and oil, when the 21 12w partially touched the

ey 212 he only disqualifies the place which he touched. This concludes the mwn.

The X913 continues -
= 3178535 "1 XY NN YOO INNAN 1IN DIPN NA )M

And we asked concerning this Xn*72; why (in the second case) does he disqualify

the 721 22 in the place where he touched them, since it is not ;7x32>.
- 3282192 HVA N DY) NIN 991 D) XY 77U

However >"w" (who maintains elsewhere® that P721X are a0 72p7n even w"32) is
not 7% in the question, '77¥°22 71 XY X' (as MO here is 02), rather *"w1 is 2773

that the question is, '823172 2 X' (that 19w 0W are nullified in the majority) -
- 3498710 2N 1Y) DIV YA NI 10D INNN WD DIPN 7599 9907 WH9M)

And *"w explains that this is the s'k 13 question; why is the %105 1wan 2p», since

the 22 and the J2w are %2 to the porridge which is 111, This argument is bolstered -
- 1999 NN YO BRYA MNP 9N DIVN NNT

For on account of this very reason the Xn»12 stated in the Xw>9, that the oy 712v
disqualifies everything. This concludes the explanation according to *"w2 no.

moon disagrees with *"w1 no7°a and *"wAd:
=910 139K XD DPNY NNNY YA 1I0VAT »N) TP 09900 PINNY NN PN

2% A ov 9120 in one who was Xn0 (from touching a yw), and was 21. He is not completely M7u until after sunset. A
01 7120 has the rules of a XMWY "1, meaning he can disqualify (?019) 72170, but not 1°21.
30 The reason is because the minute quantity of 1511 2w 12wy 0w is 702 to the fopn which is 72170, so it is considered
as if the o1 9120 touched the 0 and a v 912w is AmN 2019 (the 777N cannot be eaten; it must be burnt).
31 The im0 Sw 1wt ow, which the a1 9120 touched are less than a 71%°22.This question proves that the X723 assumes
(like mooIN) that 122X 7¥°231 MIND is not RN 72PN,
32 Tn our texts the X073 is similar; 2172 1"2n 1775 "Hva X7
33 See footnote # 2.
341t should be considered as if the entire mixture, the porridge and the 770 5w w1 oW are all one dish of 7717, since
the P21 YW 9pn is the 217! A v 9120 cannot be 192117 (2019) Rwvn. In our text we do not find this explanation from >"wA.
35 The ®w™ was in a case where 1211 2w 7w 2w 170 YW aopni. The ruling is, if the o 120 touched some of the
I 5w 1wy 0w everything becomes 7109 (even though a o1 7120 cannot be 19211 2w 12w 0w Xnvn). The reason is that
7921 1w 0w are P03 to the 15pn of 717N (which is the 217), so therefore it is considered as if the 12w 2w are also part
of the 71 dish. The same should apply here too, since the 72170 1w DWW are Y02 to the 1711 79pn (which is the 217),
it should be considered as if the entire mixture (including the 72170 1w 0W) are 1211, so nothing should be 105.
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And it does not seem appropriate to erase all the texts (where it read "7 X7 X'
'71%¥°22), and additionally (the explanation®® is lacking), for granted that the 12w 0w
are Y2 in the X@°1 to be strict (that everything is 7109), nevertheless we do not say
that the 12w 01 should be ®v2 in the X9°0, in order to be lenient®’ -

moon has an additional question on the explanation according to >"w= noa:
= 3991 0PI NON O NI NP1 35)Pya 10V 1193 19V DIVN SoVaT 999D 7Y RYT N

And furthermore, it is not applicable to say that the y»w1 21 of 72170 should be
bua to the 19pn of 1711, since the 1w 0 are visible, for it states, ‘he is only Y215
the place of the 1»w1 0w which he touches’.

moon offers an additional proof that the 2wy 2w are 7°v2:
- 1942 1AV YRWYUN NP YW XOAVY 11912 0NN 0937 N3 (“NNSDIN NOINT) T

And [it also states in the 820 of this Xn»72], ‘when are these rules said, when the
1wy 01w was a (solid) lump in the bowl’; indicating that the 72w 0w are PPwa.

NN concludes:
= (128,29 97 poIN) PPN HNMIV RNV D99 2210 (¢x,x3 91) 992 92 9N 7Y TPINAY PN

And there is no need to elaborate, since 3''w9 himself retracted in nIn32 N>0” and

also in 1711 'on regarding whether the 727X 7792 is PP92IN NP KWW, and agrees
that 122X require the YW of a 7%°25 to be 192X NRMIL 22pn0.

mooIn anticipates a difficulty:
= 2790 R0 129N 0N Y53 JY NTIYN NIND (3,73 91 POINT NP P92 9INT XM

And this which 1031 "1 said in the first P25 of 1" noon, ‘the 77 testified

36 See footnote # 35.
37 The fact that in the Xw>1 we say that the P20 5w w1 0w are 902 to the 7170 and everything is 9109 (which is
X2117), is no proof that in the 5°0 we should say that the 7m0 5w yawy 0w should be 72 to the 1°211 and we should
rule X7 that everything is 170! We cannot derive a ruling 82197 from a ruling x5!
38 The concept of 9172 applies when there is a mixture and we cannot determine which is 70’7 and which is MOX.
However if the 110X is visible, it is obviously 790X and cannot be H02. Here too since the 12w 0w are 1°¥3, they cannot
be “v2. See ‘Thinking it over # 2.
3 See o1pn "7 X, 2°N0D '01N who writes that the 1aw1 oW are 1°v3, for if they are mixed up, then PR 709 XX TN
21 9120 NO0N2 RNNDD RT RAOK ROT7727 A1 D17 12°DK 20D K7 IR L7077 2097 YA¥T O7° DY 32170 79212 110 W7 170,87 1M WA
SINAD WM PWINY M AT 7701 201w nY ,nymTa 70°va. If the 1wy oW are unrecognizable, why is the Wwan opn
9109 he is touching 1711 2w 79pn (or if it is not P03, everything should be 2109). Obviously we are discussing where the
WY W are visible and the o1 712w touched them, therefore they are 9109. If they are visible they cannot be 7v2.
40 A marginal note amends this to read (X2°02 *1n7) instead of (Xn50In2 ®°1n7). The mwn there continues, MW 7 ORI
TIUP2 WY TR AT NN LTI 20 R 21 R 7O L.
41 (Seemingly this means the) X1 "7 ow >"wA. See NAR NOW.
42 See 1 7"7 ow >"wA (who cites the X3 in MIN™MD).
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regarding a o917 ¥7> that even if it is full of mustard seeds,* they are all X»u. A mustard
seed is smaller than a 77¥°22, how can it be IR0 Y2apn —

maoIn responds, 11 " there -
— D82 NN 99195 NIN Y191 NPT IND

Did not mean specifically 2797 (since 0771 a 2771 cannot be 8™ Hapn for it is Mo

7%°251) but rather he meant it was full of eggs; the reason he said 2771 &1 is -
1199 VP 12970 IRV Y271 99919 %W PYX NIV RIN Y79h2T DIUN)

Because by mustard there are many gradations the first, second, etc., and it is
112777 720 Dapn, therefore he mentions 2771.

Summary
There are two views whether a size of 17%°22 is required for to food to be nxmY 22pn.

In order to be Xnun others, all agree that a 17¥°25 is required. 13277 food is RM™W 22PN
even Ry 9o1.

Thinking it over
1. m»doin asks why according to *"w1 was it necessary for ™R to establish the mwn

in 172w 19X by a case of Mx.* The same question is also according to NdOIN, since
13127177 all agree that 1792IX are 7¥°231 MDA ARMY 22pn?147

2. MooIn writes that in the case of "21 719pn, the 1w oW are 1°v2.*® In that case why
in the Xw™ where he touched the 17711 YW 1w 0w is everything 9109,% if the ow
WY are 1°¥3, they are not Hv2 to the 7170, so nothing should be &nv, since the 12V
o1 only touched P217?!

43 The x7ma there is stating that the food in a Xnv 071 *92 becomes Xnv from being in the airspace of the 071 %93, not
because they are touching the 011 °%3, for if that were the case how can all the seeds become Xnv; only the ones touching
the 017 793 (and the ones adjacent to it) should become ®nv; rather we must say they are all X2 from the 0777 ¥ ™K.
4 See footnote # 43. The X113 proves that 07 *92 is 117X Xnvn, for if it is Xnun from touching, then how can all the
seeds become Rnv; at most only the seed which touches the 0717 °%3 is X1 for it is a ARMW? "W (the 1"2 is a NWRY; it
became Xnv from the yw which is an 78?07 28), the other seeds which touch each other cannot become &nv, because
by 7211 there is no 78”W beyond a *1w (and even by w71 inIn it does not go beyond a *¥°27 *w°ow), and there are
so many seeds which are more than a °v¥>271 *w°5W in this 0711 *22. However by eggs which are much larger, this
argument is not that strong.
4 Since 112771 food is XML Hapn even 7¥°20n Mo, therefore the statement of 101> ' that 2771 K91 197K is X, is not
incorrect, for they are 132772 Xnv from the 0777 °90 "IN,
46 See footnote # 25.
47 See 27177 WS,
48 See footnote # 38.
4 See footnote # 35.
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